EARAROBEEIERT — 2 N— IBISH —F

2019558180 (£) 2EIEH5H

K@ C3—14 C3 ¥5%—#% (w8 | mEmml - |5 @) o s
[A&4£] 17 :300,000 ™ ~ 23#&:105,000  ~ 33#&:60,000H ~ 43#%&:45,0008” . 53 :30,000 @
B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: o . s &) 4 52 8/R :27. ~7-7- . — NHBEE (FH)
il | Farsvorz= t> 5 s 1(2_7)6 7-7-7-4 | 40.2 2 ié? i
LI INATA—h— B:7z¥—LA =liztae]
» s 3 | BIX 1:27.7 1-1-1-1 | 41.6| — 1 431 | TSR (SH)
AN ARASZ= Sl 54.0 (7€) 1) | B BIRBRERASIS
L:xoindO— B:IURZLT1AL FRIKBR R4S
_ e . ZHER . 4 _ 57 (&
3 5| ZFTFrNO-Z # 6 i%%umﬂ 1.(2‘3.6 5-4-3-3 | 42.2 3 ;1_841) égl_; (@)
R:G4 7 hT—IEY B:STF—XFr AR BiE R
=8 FREMER : 00— — TEHET (FH)
alzlg| v—35>7 i 3 i 1.(249).4 2-2-2-2 | 43.1 4 (4_517) il
R:bhwHio—)— B:v¥v/> FLF E:Ebae]
— B4 | BEFE 1:29.4 10-8-8-7 |[41.5| — 7 468 | AR ()
5 4| A= 7— A51.0 (74%) (+1) I%Wa‘é&ﬁ
R:hT/RI47T B:Xh—LIb "HET7— L4
e o AR :29. -10-10- 8| — HARHE (BH)
6lglg| Ty KH—F> i 9 s (11219/27) 9-10-10-10 | 40.8 9 (4+414) %E%ﬁ
LN—VFNTya B:ZAMVEAL JNE 1%k
R 3 . 4 8 | AHENE 1:29.7 6-5-4-6 | 43.2| — 8 457 | MAREBD (BH)
7155 T RFLA v A2 ¥¢55.0 (7 47) 1) A(Iﬁl) J P N#H
L:ANZZATNY B:vabkTI I BB
Son == g EREHH : -6-5- = BE— (&)
3 6l voFLIR—1 H o9 Sl 1.(350).7 4-6-5-5 | 44.2 5 :(1):) ’i‘!”?@?
L:veNnNyarh7r BIVIFAIIVXT1 [l e]
. s LHFE :31. -9-9- . — E#EEE (S5
olglio| 77>7rEY 2 # o4 | L8 R I I 10 ‘}2;‘ BILEE
R/ RS vy 7 BT —FT43Tv7 18 F|iC
: . H 31, -3-6- 4| - ML (HH)
10fl3| /7Y IL2R R i 58 AR he ° ?ji 1) HEs
R:vA42INTT B:IAI AL Wi Eim
® 1 — @B
1T=7r= 7,8,3,6,2,5,1,10,9,4
2d—F— 7,8,3,2,5,6,1,4,10,9
Ja=5= 7,8,2,5,6,3,1,4,10,9
43—+ — 7,8,2,1,6,5,4,3,10,9
[ /N
BB 1 400 | | 74 K 1-7 10 | | # & 1-7 170 | | 3E& 1-2-7 320
B B 1 1004 1-2 220M B = 1= 130H JEE =72 1,870M
7 1004 2-7 160M B H 1-7 400M
2 110

ABICOVWTRDTEEERROODE. TR LIV,




